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E–3081 

 M. Com. (Final) EXAMINATION, 2021 

(Optional Group—B : Management) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours ]  [ Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- foŸk dk;Z dh ifjHkk”kk nhft,A foŸk dk;Z dh izdf̀r rFkk {ks= dh 

O;k[;k dhft,A 

Define Finance Function. Discuss its nature and scope. 
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vFkok 

(Or) 

esgrk ,.M dEiuh ,d e’khu ds Ø; dk fopkj dj jgh gSA nks e’khusa 

^v* rFkk ^c* ¼izR;sd dh ykxr ` 50]000½ miyC/k gSaA dj ds ckn 

vk; dh vk’kk fuEuor~ gS % 

o”kZ 

e’khu ^v* 

(`) 

e’khu ^c* 

(`) 

1 15,000 5,000 

2 20,000 15,000 

3 25,000 20,000 

4 15,000 30,000 

5 10,000 20,000 

nksuksa fodYiksa dk ewY;kadu dhft, % 

(i) is&cSd ihfj;M jhfr ds vuqlkj 

(ii) vkSlr fofu;ksx ij izR;k; jhfr ds vuqlkjA 

Mehta & Co. is considering the purchase of a machine. Two 

machines A and B are available each costing ` 50,000. 

Earnings after taxation are expected to be as under : 
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Year 
Machine A 

(`) 

Machine B 

(`) 

1 15,000 5,000 

2 20,000 15,000 

3 25,000 20,000 

4 15,000 30,000 

5 10,000 20,000 

Evaluate the two alternatives according to : 

(i) Pay-back period method 

(ii) Return on investment method (average investment). 

bdkbZ&2 

(UNIT—2) 

2- ,d mRikn dks fufeZr djus gsrq ,d dEiuh dk fuekZ.k vHkh gky gh 

esa gqvk gSA bldh iw¡th lajpuk fuEuor~ Fkh % 

    ` 

(i) 9% _.ki= 6,00,000 

(ii) 7% iwokZf/kdkj va’k 2,00,000 

(iii) lerk va’k ¼24000½ 6]00]000 

(iv) izfr/kkfjr vk; 4]00]000 

  18,00,000 
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lerk va’kksa dk cktkj ewY; ` 40 gSA ` 4 izfr va’k dh nj ls ykHkka’k 

izLrkfor gSA dEiuh dh lhekUr dj dh nj 50% gSA dEiuh dh 

Hkkjkafdr vkSlr ykxr dh x.kuk dhft,A 

A company was recently formed to manufacture a product. 

Its capital structure was as under : 

    ` 

(i) 9% Debentures 6,00,000 

(ii) 7% Preference shares 2,00,000 

(iii) Equity shares (24000) 6]00]000 

(iv) Retained Earnings 4]00]000 

  18,00,000 

The market price of equity shares is ` 40. A dividend of  

` 4 per share is proposed. The company has a marginal tax 

rate of 50%. Compute the weighted average cost of the 

company. 

vFkok 

(Or) 

¼v½ fofu;ksx lEcU/kh fu.kZ; ysrs le; vki iw¡th dh ykxr fdl 

izdkj ls eki ldrs gSa \ 

How do you measure the cost of capital in making 

investment decisions ? 
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¼c½ iw¡th dh Hkkjkafdr vkSlr ykxr D;k gS \ iw¡th dh Hkkjkafdr 

vkSlr ykxr iz;ksx djus ds ihNs D;k eUrO; gS \ 

What is weighted average cost of capital ? What is the 

rationale behind the use of weighted average cost of 

capital ? 

bdkbZ&3 

(UNIT—3) 

3- lerk ij O;kikj ds fl)kUr dh O;k[;k dhft,A izcU/k ds fy, bldh 

mi;ksfxrk dk o.kZu dhft, vkSj bldh lhekvksa ij izdk’k Mkfy,A 

Explain the principle of Trading on Equity. Discuss its utility 

to the management and point out its limitations.  

vFkok 

(Or) 

¼v½ foŸkh; yhojst D;k gS \ bldh x.kuk dSls dh tkrh gS \ 

blds izHkko crkb,A 

What is Financial Leverage ? How is it calculated ? 

Discuss its effects. 
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¼c½ fuEufyf[kr iwokZuqeku X  rFkk Y  dEifu;ksa ls lEcfU/kr gSa % 

 X Y 

mRiknu ,oa foØ; ¼bdkbZ esa½ 40000 50000 

ifjorZu’khy ykxr ¼izfr bdkbZ½ ¼`½ 4 3 

fLFkj ykxr ¼`½ 1,20,000 1,25,000 

_.k ij C;kt dk Hkkj ¼`½ 60,000 25,000 

foØ; ewY; ¼izfr bdkbZ½ ¼`½ 10 8 

mDr leadksa ds vk/kkj ij fuEufyf[kr x.kuk dhft, % 

(i) ifjpkyu yhojst 

(ii) foŸkh; yhojst rFkk 

(iii) la;qDr yhojst A 

The following projections are related to companies  

X and Y : 

 X Y 

Output and sales (units) 40000 50000 

Variable cost (per unit) (`) 4 3 

Fixed costs (`) 1,20,000 1,25,000 

Interest burden on Debt (`) 60,000 25,000 

Selling price (per unit) (`) 10 8 
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On the basis of the above data, compute : 

(i) Operating Leverage 

(ii) Financial Leverage 

(iii) Combined Leverage 

bdkbZ&4 

(UNIT—4) 

4- ^ykHkka’k uhfr* dh O;k[;k dhft,A ,d lqfLFkj ykHkka’k uhfr ds 

vko’;d rRoksa dk vkykspukRed ijh{k.k dhft,A 

Explain the meaning of term ‘Dividend Policy’. Critically 

examine the essentials of a sound dividend policy. 

vFkok 

(Or) 

¼v½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) LVkWd ykHkka’k 

(ii) lqfLFkj ykHkka’k uhfr ds rRo 

Write short notes on the following : 

(i) Stock dividend 

(ii) Essentials of a sound Dividend Policy 
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¼c½ iznŸk fuEufyf[kr lwpuk ls okYVj ekWMy ds vuqlkj ,d 

dEiuh ds lerk va’kksa dk lS)kfUrd cktkj ewY; fu/kkZfjr 

dhft, % 

dEiuh dh vk; ` 15 yk[k 

ykHkka’k Hkqxrku ` 5 yk[k 

vnŸk va’kksa dh la[;k 100000 

ewY;&vk; vuqikr 10 

fofu;ksx ij vk; dh nj 12% 

QeZ dh pkyw ykHkka’k uhfr ls D;k vki larq”V gSa \ ;fn ugha] 

rks bl ekeys esa vuqdwyre ykHkka’k Hkqxrku vuqikr D;k gksuk 

pkfg, \ 

From the following information supplied to you, 

determine the theoretical market value of equity shares 

of a company as per Walter’s model : 

Earning of the company ` 15 lakh 

Dividend paid ` 5 lakh 

No. of shares outstanding 100000 

Price-earning ratio 10 

Rate of return on Investment 12% 

Are you satisfied with the current dividend policy of 

the firm ? If not, what should be the optimal dividend 

payout ratio in this case ? 



 [ 9 ] E–3081 

 P. T. O. 

bdkbZ&5 

(UNIT—5) 

5- ‘kf’k fy- ^,Dl* oLrq dk fuekZ.k djrh gS vkSj bldk dPpk ykxr 

i= fuEuor~ gS % 

  izfr bdkbZ 

(`) 

dPpk eky 160 

izR;{k Je 60 

mifjO;; 120 

    dqy ykxr 340 

ykHk 60 

    foØ; ewY; 400 

vfrfjDr lwpuk,¡ % 

(i)  dPps eky dk LVkWd vkSlru ,d ekg dk gksrk gSA 

(ii) pkyw dk;Z vkSlru vk/kk ekg dk jgrk gSA 

(iii) rS;kj eky dk LVkWd vkSlru ,d ekg dk gSA 

(iv) vkiwfrZnkrkvksa }kjk iznŸk lk[k ,d ekg vkSj xzkgdksa dks nh 

x;h lk[k nks ekg dh gSA 

(v) etnwjh ds Hkqxrku esa foyEcuk 1
2

1  lIrkg rFkk vizR;{k O;; 

ds Hkqxrku esa ,d ekg dh gSA 
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(vi) mRiknu dk ,d&pkSFkkbZ Hkkx udn cspk tkrk gSA 

(vii) jksdM+ gkFk esa ` 50]000 vuqekfur gSA  

52000 bdkb;ksa ds mRiknu Lrj dks ekurs gq, dk;Z’khy iw¡th dh 

vko’;drk dk vuqeku yxkb,A 

Shashi Ltd. manufactures product ‘X’ and a pro forma cost 

sheet of it is as under : 

   per unit 

(`) 

Raw Materials 160 

Direct Labour 60 

Overheads 120 

    Total Cost 340 

Profit 60 

    Selling Price 400 

Additional information : 

(i) Raw materials are in stock on average for one month. 

(ii) Works-in-progress on average half a month. 

(iii) Finished goods are in stock on average for one month. 

(iv) Credit allowed by suppliers is one month and that 

allowed to customers is two months. 
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(v) Lag in payment of wages is 1  weeks and in payments 

of overheads is one month. 

(vi) One-fourth of output is sold against cash. 

(vii) Cash in hand is estimated to be ` 50,000. 

Assuming a level of activity producing 52000 units, prepare 

an estimate of working capital requirements. 

vFkok 

(Or) 

¼v½ dk;Z’khy iw¡th dh ^lapkyu pØ vo/kkj.kk* dh O;k[;k dhft,A 

mfpr mnkgj.k nhft,A 

Explain the ‘Operating cycle concept’ of working 

capital. Give suitable examples. 

¼c½ dk;Z’khy iw¡th ds izcU/k dh egŸkk crkb,A 

Explain the importance of working capital 

management. 
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